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All questions are compulsory:- Section — I (One marks questions)

1. The number of revolutions made by a circular wheel of radius 0.7 min rolling a distance of 176 m is
(a) 22 (b) 24 (c) 75 (d) 40

2. In the figure given below, ABCD is a square of side 14 ecm with E, F, G and H as the mid
points of sides AB, BC, CD and DA respectively. The area of the shaded portion is

A £ 8

(a) 44cm? (b) 49 cm?

(c) 98 ci? (d) 497/2 c?

G
3. If the circumference of a circle and the perimeter of a square are equal, then
(A) Area of the circle = Area of the square (B) Area of the circle > Area of the square
(C) Area of the circle < Area of the square (D) Nothing definite can be said about the relation between the areas of the circle and square.
4. Itis proposed to build a single circular park equal in area to the sum of areas of two circular parks of diameters 16 mand 12 mina
locality. The radius of the new park would be

(@ 10m (b) 15m (c)20m (d)24m
5. The area of the circle that can be inscribed in a square of side 6 cm is
(a) 36m cm? (b) 187 cm? (c) 12w cm? (d) 97 cm?

6. The area of the square that can be inscribed in a circle of radius 8 cm is

(a) 256 cm? (b) 128 cm? (c) 642 cm? (d) none of these

7. The radius of a circle whose circumference is equal to the sum of the circumferences of the two circles of diameters 36 cm and 20 cm is
(@ 56.cm (b) 42 cm (c) 28 cm (d) 16 cm

8. The diameter of a circle whose area is equal to the sum of the areas of the two circles of radii 24 cm and 7 cm is
(@) 31cm (b) 25 cm (c) 62 cm (d) 50 cm

9. InFig., acircleis inscribed in a square of side 5 cm and another circle is circumscribing the square. The ratio of area of the outer circle to
the inner circle is:
@z2:1 (b)1:2
(c)5:25 (d) none of these

10. The perimeter of a square circumscribing a circle of radiusacm

(a) 3acm (b) 5acm (c) 8acm (d)acm

11. The area of a sector of circle of radius 21 cm and central angle 120°.
(a) 441 cm? (b) 462 cm? (c) 642 cm? (d) none of these

12. If the area of a sector of a circle of radius 36 cm is 54 = cm?.Then the length of the corresponding arc of the sector is:
(@ 3mcm (b) 5 cm (c)8mcm (d) none of these

13. Find the area of the flower bed (with semi-circular ends) shown in figure: 38
— M ——

(a) 380 cm? (b) 380 + 251 cm? //////// / .5
(c) 380 + 5m cm? (d) none of these / !

S

14. Find the area of the shaded field shown in figure: T 1
(a) 48 + 41 cm? (b) 32 + 91 cm? 6m 1"'
(c) 32 + 41 cm? (d) none of these l
15. Floor of a room is of dimensions 5 m x 4 m and it is covered with 80 circular tiles of diameters 50 cm each as shown in Figure Find the
area of floor that remains uncovered with tiles. (Use ©t = 3.14) 5cm
(a) 43000 cm? (b) 200000 cm? [
(c) 4300 cm? (d) none of these X
16. The ratio of the areas of the incircle and circumcircle of a square is l
(@1:2 (b)1:3 (€)1:4 (dy1:v2

17. The perimeter of a circle having radius 5cm is equal to:

(a) 30 cm (b) 3.14 cm (c)31.4cm (d) 40 cm
18. The largest triangle inscribed in a semi-circle of radius r, then the area of that triangle is:
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(a) r? (b) %rz (c) 212 (d) V2r?

In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre. The length of the arc is:

(a) 20cm (b) 21cm (c) 22cm (d) 25cm

In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre. The area of the sector formed by the arc is:
() 200 cm? (b) 220 cm? (c) 231 cm? (d) 250 cm?

Area of a sector of angle p (in degrees) of a circle with radius R is

(a) p/180 x 27R (b) p/180 x  R? (c) p/360 x 27R (d) p/720 x 27R?

The wheel of a motorcycle is of radius 35 cm. The number of revolutions per minute must the wheel make so as to keep a speed of 66
km/hr will be

(@) 50 (b) 100 (c) 500 (d) 1000
The area of a quadrant of a circle with circumference of 22 cmis

(@) 77 cm? (b) 77/8 cm? (b) 35.5 cm? (c) 77/2 cm?
In a circle of radius 14 cm, an arc subtends an angle of 30° at the centre, the length of the arc is
(a) 44 cm (b) 28 cm (c)11cm (d) 22/3 cm

If the length of an arc of a circle of radius r is equal to that of an arc of a circle of radius 2r, then
(A) the angle of the corresponding sector of the first circle is double the angle of the corresponding sector of the other circle.

(B) the angle of the corresponding sector of the first circle is equal the angle of the corresponding sector of the other circle.
(C) the angle of the corresponding sector of the first circle is half the angle of the corresponding sector of the other circle.
(D) the angle of the corresponding sector of the first circle is 4 times the angle of the corresponding sector of the other circle.

A cow is tied with a rope of length 14 m at the corner of a rectangular field of dimensions 20m x 16m, then the area of the field in which
the cow can graze is:

(A) 154 m? (B) 156 m’ (C) 158 m’ (D) 160 m*

Perimeter of a sector of a circle whose central angle is 90° and radius 7 cm is

(@) 35cm (b) 25 cm (c) 77 cm (d) none of these

In a circle of diameter 42 cm, if an arc subtends an angle of 60° at the centre, where 7t = 22/7 then length of arc is
(@ 11lcm (b) 227 cm (c)22cm (d) 44 cm

If the perimeter of a semicircular protractor is 72 cm where 7 = 227, then the diameter of protractor is

(a) 14 cm (b) 33 cm (c) 28 cm (d) 42 cm

If the radius of a circle is doubled, its area becomes

(a) 2 times (b) 4 times (c) 8 times (d) 16 times

If the diameter of a semicircular protractor is 14 cm, then its perimeter is :

(@) 27 cm (b) 36 cm (c) 18 cm (d)9cm

A race track is in the form of a circular ring whose outer and inner circumferences are 396 m and 352 m respectively. The width of the
track is

(@) 63 m (b) 56 m ©7m (d)3.5m

The area of the largest square that can be inscribed in a circle of radius 12 cm is

(a) 24 cmz? (b) 249 cm? (c) 288 cm? (d) 196V2 cm?

If the perimeter of a circle is equal to that of a square, then the ratio of their areas is:

@22:7 (b)14:11 (c)7:22 (d)11:14

The circumference of two concentric circles forming a ring are 88 cm and 66 cm. Taking & = 22/7, the width of the ring is
(@) 14 cm (b) 7cm (c) 7/2 cm (d)21cm
A steel wire when bent in the form of a square encloses an area of 121 cm?. If the same wire is bent in the form of a circle, then the

circumference of the circle is:

(a) 88 cm (b) 44 cm (c) 22 cm (d)11cm
The length of the minute hand of a clock is 14 cm. The area swept by the minute hand in 5 minutes is:
(a) 153.9 cm? (b) 102.6 cm? (c) 51.3 cm? (d) 205.2 cm?
If the area of a circle is numerically equal to twice its circumference, then the diameter of the circle is:
(a) 4 units (b) 2 units (c) 8 units (d) none of these
Match the columns:
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